SIMPLIFICACION DE FRACCIONES ALGEBRAICAS

Ejemplo:

Operacion

Simplificar:

26 112 +3x4+36  (3<3) - (x~4) -(2x+3)

2x+3

g. | 3 220 +43x-12 (x5 (x4 (

3x-1)

3x-1

Resultado

3x-1

2x+3 ..
Solucion

Sitio para la solucion

Simplificar:
Resolucion

3x° —11x* +6x B
3x° =26x* +61x—30

Resultado

Solucion

X =2xt+x B

3
X —X

Resultado

Solucion

X +6x7+12x+8
X +4x+4

Resultado

Solucion

XX +6x+9 B
2x*+7x+3

Resultado

Solucion
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x2+10x+25 B
x* =25

Resultado Solucion

x40 -T7x—x+6

Y +6x>+11x+6

Resultado Solucion

X437 +3x+2

3 2
X —x"—-x-2

Resultado Solucion

4x* +4xy +y*
4x° +4x7y + xy°

Resultado Solucion

xt—1

4 2 -
xt=x—x*=x=2

Resultado Solucion

2x + 7 —11x% +11x =3 B
2x* +3x* —8x+3

Resultado Solucion
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